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B3 —2 FEMICERATHILBESNOERICEIHEE (1/1) _ _ _ EJEJEEJE_ | ERR18FE
2ENMONE | #EWES | 129A2010 | B4 | SESESTH-1 | P | ERAGFEXKERSESE=TH
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ﬁg TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 4.70 58.55| #n L4t |0.00 ~ 0.00] 1.60 8.58 s 1.00f 500 ~ 5.09 58.55| #n L4t | 5.00 ~ 509 1.60 8.58
9 100kN/m##8 %% 1.00{0.00 ~ 2.26 135.18| 3m%x #8235 -~ - - —| 100kN/mM%#8 % % 1.00{ 10.73 ~ 21.39 135.18| 3m%x#B 25 -~ - - -
s 1.00]2.26 ~ 10.05 100.00f Z=hki4t | 0.00 ~ 10.05] 2.59 13.88 s 1.00f 5.00 ~ 10.73 100.00f Zhl4t | 5.00 ~ 2139 2.59 13.88
3 100kN/m##8 %% 1.00{0.00 ~ 239 137.27|3m%x#B25 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.53 ~ 20.72 137.27| 3m%x#B 25 -~ - - -
s 1.00]2.39 ~ 10.17 100.00f Z=hki4t+ |0.00 ~ 10.17] 2.69 14.39 s 1.00f 5.00 ~ 10.53 100.00f Zhl4t+ | 5.00 ~ 20.72| 2.69 14.39
4 100kN/m##8 %% 1.00{0.00 ~ 1.85 128.51|3m%x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 11.17 ~ 20.30 128.51|3m%x#B25 -~ - - -
ZHnLs 1.00]1.85 ~ 9.64 100.00f Zhl4t | 0.00 ~ 9.64| 251 13.45 s 1.00f 500 ~ 11.17 100.00f Z=h k4t | 5.00 ~ 20.30| 2.51 13.45
5 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 432 53.91| ZhLlst | 000 ~ 432| 1.99 10.63 s 1.00f 500 ~ 5,01 53.91| #hl4+ | 500 ~ 501 1.99 10.63
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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